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: - Instructions
. - Answer all questions..

- serial no. l to serial no. 10 are related

to general awareness while questions }
from serial no. 11 to senal no. 70 are |

- subject specific. -

4. Each question has four: alternatlves'-

- marked as (A), (B), (C), (D).

5. Choose only one alternative as an -

~ answer of a question.

6. If more than one answer is marked :
. then it will be treated as wrong '

. answer. .

© 7. Candidate has to darken only one circle
- - indicating the correct answer on the -

" ‘OMR sheet by using M 1

- BALL POINT PEN.-

 8; " There is no prov151on of Nega!jvgf
- marking.
9. Carrying Moblle phone in the ,

examination hall is strictly proh1b1ted
If any objectionable material is also

‘found, then action wﬂl be taken as per

University norms.

'10. Please fill your Roll No.. and other.

_information carefully:on OMR sheet.

IncaseofanymlstakeonOMRsheet. 1

- . candidate will be responsible. -

11." If there ‘is any difference between
" - ..English and Hindi version of questions, |-

" then English version shall be correct.
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1

Which ‘ country has '-appeinted
. Voledymyr Groysman as"new ‘P'rinf;e‘ |
| ‘Mlmster 1n Apnl 2016 2.

(A) Portugal

- (B) Myanmar'

() Iceland

D) Ui:raine

World Hentage Day is observed on'-

whlch date ?
(A) April 15 .

(B) April 20

| “(C) April 18 o
"(D)‘:April‘ 16  |
'What is the full form of ‘GM’ usedy,
' for GM crops ‘? “

-'(A)’ Genetically Mgrked L

- (®) Gentically Modified

B (C) Globally Marketed

(D) Genetlcally Marketed
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. Sri Pgrﬁmbﬁdur, a temple town in

south, is tﬁe birth plécg of :

(A) Adi Sll.lax;l;ar;chérja‘ .

; ® Vidyarany; A |

(C) Madhavacharya
(D) | Rarr-zanuja’

. ‘Choose the’ bdd qﬁe’ out
@ ,Rajasthan L
® Pﬁnjat;:

(C) Bihar

o Delhi-

'Choose the approprlate one word for

' ‘the given deﬁmtlon

'- "Ong whov' eats too mi;ch; —
n gluttéﬁ B e
: (B) \?égetariap-

- © cannibal

(D) hungry

e e ¥ 2

(B) Frarm

©) wmwEd

D) TS
(A) TeRIE o
(B)ﬁaﬁ

(©) frer

(D) 2w

ﬁqnﬁxm%wémm@

™

‘One Who eats too much’ —

~ (A) glutton
B vegétariap

o (©) cannibal o

(D) hungry
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38 Wthh of the followmg is assocxated '
' w1th Indlan Plans ? |

39.

| (A) NITI Aayog ..
(B) Price vComm’issiovn o
- © Finance Com'miSsibn”‘
L 'vzl(D) Revenue Board

4Negat1ve effect of Globahsatmn on

- _busmess is :

(&) Removal of Protectlons ‘_ RN
E : (B) Techmcal Development

" (C) Extended Market

(D) Freeness te

' -production‘ capaeity -

. -The present mvestment hmtt for

' Small Enterpnses engaged 1n |

productmn sector is :

(A) Upto Rs. 95 lakh

09-EAFM‘

Rs ‘5 crore

(D) Upto Rs. 10 lakh

_determine

(B) More than Rs 25 lakh and upto |

‘,."(C) More thanRs 5 crore a_ndupto | ]
* Rs. 10crore
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41,

Industrial Finance Corporation of

. India Ltd. was, set up in the year :

(A).1948

(B 1964

42,

- (0) 1971

(D) 1989 '

Which of the following countries was '

the single largest business partner

of India in two-way. trade in the

year 2014-15 7

(A) USA

- ® UK

43.

‘- (C) ‘Japan

(D) Chma ’

The EXIM Bank of Indla was set up

in :

(A) 1980 -

(B) 1982

(C) 1969

(D) 2003

18
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(A) 1948

(B) 1964

(©) 1971

)} 1989 ‘
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(A) 1980 §
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(C) 1969 #

D) 2003 &



- 44 The Natwnal Populatxon Pohcy of

L Indla was declared on :

| ‘](A) 10th ‘March, 2001 .

45,

- (B) 15th February, 2000 \
(©) 1st April, 1976
D) 1st May, 2000

‘The objeetive of financial manage-

ment in an orgamsatmn is :

(A) Adequate return on Capltal

Employed -

| (B) Optlmum Utlhsatlon of Capxtal .

funds

) All of the above

Whlch of the followmg is not an,

"‘1tem of the 11ab111ty side of a balance

sheet ? -
(A) Reserves and surplus *

_(B)_‘ InYeStments

~(C)Share capital

i‘ (D) Current hablhtles
09—EAFM

| ‘ B _(C) Suﬁcnent and regular supply of
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47.

‘Which of the following is an ideal

quick ratio ?

@ 2:1

®1:1 "

C© 15:1

48.

D 1:2

If net sal_les-‘is Rs 2;00,000, cost of
goods sold is Rs. 1,05,060 and the
opefating e);péﬁcﬁturg is Rs. 25.,000,
then the op%rat}ixig ratiq .v‘fill b; :
(A) 35%

(B) 60%

- (C) 65%

‘©) 8% -

47.-ﬁwﬁ®aﬁﬁaﬁm‘maﬁa

| 48.

‘A 2:1

4(B)' 1: 1

©) 15:1

k) 1:2.

R % i w 2,00;060, qa fasha

R T T A E. 1,05,000 T

| Qﬁ'ik"ﬁ =4 % 25,000: £ @ fcater

S BT

(A) 35%

(B) 60%

(C) 65%

20

™8



i 49 wﬁ:‘mﬁ smmzs 14 mgg
| et £ 0000 % & 2
@ = 50000 |
- ® 30,000

() T 26,000’

f (D)t 25000 .
0 _, 5(:):, ﬁwﬁwﬁaa 3 ammﬁsﬂa {aﬂvﬂ |
S '
| (A)mﬁaeﬁiﬁ

O

21"’




51.

If the annual consumption of raw

: bm"at,erié’lls is 2000 units, cost of

placing an order lis Rs. 30 and

annual’ cost of storing one unit is

Rs. 3, the econoinic order quantity

will"bé o '.

. (A) 300 units

~ (B) 100 units

- 52.

" (0) 200 units. -

¢

(D) 225 units

AH the sales area Aftgr BEP point

is known as :

~ (A) Angle of incidence

- (B) Margin of safet'y‘

© Loss ‘area !

(D) Profit area

92
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AfollQWiI'lg\ .-Vw'h.ose v‘nal‘ﬁe is | 53. ﬁwﬁf&alﬁﬁmm "m;hm
with the “Natié;paiiRural' Y m m;:a zn—q-,,f 3 gg, -~ g )

it Guarantee Scheme” ? | .
e (A) Wn Tﬂ'tfr
- Gandhi - R |
R A,.,‘(B)-um Ti’f%ﬂ |
tma Gandhi RO : o
o (€)W
ndra Modi S
! _ (D) Tt et
. s e wFE T anlv e
theféllowing_‘el}émentsis“ S T N
iated with the “Bharat | = ’ | .
programme started for S ' E i =
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.56.

Which of the followmg is not'a

~ correct statement ?

(A) Commercial Banks provide

i’ﬁral credit

(B) Regional Rural Banks provide

crédit to rural areas !

' (C) NABARD is the apex institute
,f)rovides rural credit in Ii;diaf

(D) The area of 6peratibn‘ of primary-

" . cooperative credit societies is
‘lir‘nited to cities
Which of the following i-s_ a

characteristic of a village ?

~ (A) Population below 5,000

(B) Agriculture .

profession

" () Density of population is below

- 400 pérsons per sq.‘ km

) Allvof the above

is the main

24
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- 57. Which of the following is/was a self- | 57, frfafan § ¥ Fia - TTR T
| emPIQYmEht Prngamme ? %/2" 7.. o

(&) MGNREGA R

85 Pracen, Maaiei Gramodgn |

T R

 Swarosgar Yojana | @) vem dwmoawm
(D) _Jawahar. Rozgar YOJana L 58. qam’i '{ﬁf Meﬁ 3 ﬁﬁ %ma&
58 The lowest 1ev~el instituti‘ojn" of U :
Panchayati Raj is : . o o

(A) Gram Panchayat Lo |
ST @ SR
- (B) Panchayat Samiti ” ) ,

(C) Zila Parishad - (?/, ““ _ 

(D) None of the ébévé. I(D.),_’ Wﬁ ﬂ W T T ‘A

' 09-BAFM | B



59. Which of _the following is not ‘59_ FrefatEd ﬁgm afard weam
 associated with the tribal welfare | - o
programmes ? ‘ o S o
S . (A) ‘wefen Frea wmwa
(A) Saharia Development Programme o -

(B) MADA Cluster | ® e
(C) Tribal SubPlan Area | () wworf wu-dorm 8
D) Deseﬁ Pevelopment Programme o o . .
60. The minimum support price of | | R -

| | | | 60. wra # wia ad F SRl w1 =Em

.agriculture product is declared . ’
o)/ vossasrasensaie every year in
India. fEm s ¥

(A), ‘Fooc? Corporation of India - @ ‘HTT(ﬁ?I g fm -

(B)I_Commissjon for Agriculture | S

S - B) FW AW W@ o e
. Cost and Prices e o

(C) Seed Corporation of India o . L

, D) Céntral Warehousing cquoration ‘.(_D) FHE HUSRY ™
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. .6l

~From the following who was the

' ffathér of Cooper_dtior; ? :

 (A) Robert Owen .

.~ (B) Mahat\ma‘ Gandhi o __l", ¢

" (O) Rochdale

62.

. (D). Schulze Dé,_litzch

| ‘i_novemeht ?
o (A)Y' Guatanteg, by Govt | ‘

(B) Grant & Aid by Govt.

- © ‘Loans to Societies.

@) All of the above ‘

61.

Frefefan # 3 wewta & I A
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63.

64,

Which of the fqllowipg is not a form
of functional budget ?

(A) Salee Bg;iget .»

(B) Flexible Bu&éet

(C) ‘Production Budget

(D) Cost Bﬁdgef, :
Which of the following statements
'is incorrect ?

(A) The cash budget is an element

~of a master budget.
(B) The direct »li_a.bpur ‘budget is
specifically dependent on the

- pi'oduction budget.

(C) A continuous budget is feasible

only for sales"projections.'

y

D) The budgetmg process would |

normally begln w1th the

preparatlon of a sales budget '

09—EAFM

28

63

ﬁmﬁf@aﬁﬁaﬁwmwzm-

maﬁ%’

(A)_ﬁsmm

. (B) HreeR W

L (C) WA w9

64.

®) mm o
ﬁwﬁfaaﬁ%aﬁwmmm%?
'(A)_m’ e, T T T
L .
(B) m&immﬁﬁmm%m

"Wﬂtﬁ‘h"él |

(C) ﬁwwﬁmqﬁﬂwﬁ%m

ﬁm%l

3 (D)\,“H‘FIFQ» w9 A W W, B

'mmaamm n



. Whlch of the followmg statements'

1s correct ?

" (A) Traditional budgeting focuses |

~on goals and objectives '

- (B) Zero-based budgetmg prod‘uces ’

a smgle Ievel of appropnatlon 1

| for an actlvn:y

Traditional budgetmg starts ’_

with last years fundmg

,, appropnatlon

"'Zero based budgetmg does
) 'not systematically consider
~ ‘alternatives' to current

' operatlons

. Which of the foilowmg is a capltal B

' budgetmg techmque that is not

consxdered as dlscounted cash ﬂow .

' wmethod 2.

(A) Pay back penod

'(B) Internal rate of return

o (C) Net present value

D). Proﬁtablllty mdex _'

09—EAFM
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- 67.

On  the basis. of the formula

(8Q - AQ)"-x SP, we can obtain :

(A) ‘Material Cost Variance

~ (B) Material Price Variance -

68.

. (C). 'Material Ué?.ge Variance

| © Mai;érigl Yield Variance

' Wthh of the fol}ovying'is a service;_
,orierkxt‘e‘d. prOJect ‘7 _

- (A) Rése‘érch‘ahd' Develdpment

Project '

(B) Expansion P‘r'ck)jectv

(C) Modem_"isation; Projectl

(D) Replacement Project

67.
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69, Which of the following is not an | g9, Frexfefo & @ e e favdrw 7
objecﬁve of valﬁe analysis ? - L . |
(A) Redﬁction in Costs o EEEEE o
SR T (A) et § %
(B) Decrease in Utility. | -
o L - (B) wdfiren # wH
(C) Creation of new Ideas' L ‘
' (D) Achievément‘ of Exqelleht_ | - (©) "ﬁ'ﬁ ﬁﬁTﬁ Ll "EF’H
70; If thie last dividend declared is | - A
. | 7ouﬁmﬁfﬁam2*ammm
~ vRs 2 per share, the growth rate in | '

) d1v1dends is 12% and the pnce per] ﬁqﬁm lz%mufamw? 80

"f"sharelsRs.SO,thecost.ofequlty a a}mm{aﬁaﬁmﬁwﬁ
capital will be : -
o \(A)‘ 14.8%
) 148% T
| B ® 1271%
(®) 12.7% y L
o 0) 14%
©) 14% AC) 1%

o 15% | o use
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